
A-GF-1BGALA1



2

S6 n.12

4x35 n.12 3,5x19 n.2

x2 x2x2

n.2

n.2 n.2 n.2 n.1n.2 n.2

M6x12 n.12 M8x8 n.4 M5x16 n.2 M5x10 n.2

M5x8 n.2M5 n.2

x4x2 x2

n.8

ø6 mm

ø3 mm

ø4 mm

SILICONE
GREASE

H2O
CLEANIT

OR
WATER ONLY

Cleanit

LD/LS

A80 L=75,5-78 cm

A90 L=85,5-88 cm

A100 L=95,5-98 cm

A110 L=105,5-108 cm

A120 L=115,5-118 cm

LS

LD

A



3

L

1B80 L=77-79,5 cm

1B90 L=87-89,5 cm

1B100 L=97-99,5 cm

1B110 L=107-109,5 cm

1B120 L=117-119,5 cm

LG

G80 L=75,5-78 cm

G90 L=85,5-88 cm

G100 L=95,5-98 cm

G110 L=105,5-108 cm

G120 L=115,5-118 cm

LF

LG

S6 n.12

4x35 n.12

x1 x1x2

n.2

n.2 n.2 n.2 n.1 n.2 n.4

M6x12 n.14

3,5x19 n.2

M8x8 n.4 M5x10 n.2

M5x8 n.2

M5x16 n.2

M5 n.2

x4x1 x2x1

n.1

S6 n.6

4x35 n.6

x1 x2x1

n.1

n.1 n.1 n.1 n.1 n.1 n.4

3,5x19 n.2

M8x8 n.2 M5x10 n.1

M5x8 n.1

M5x16 n.1

M5 n.1

x2x1

n.1 n.1

x1 x1x1

M6x12 n.8

3,5x9,5 n.3

GF

1B

L

LF

F70 F=66-68,5 cm

F75 F=71-73,5 cm

F80 F=76-78,5 cm

F90 F=86-88,5 cm

F100 F=96-98,5 cm

F110 F=106-108,5

F120 F=116-118,5



4

1

2

OK



5

ø6

S6

4x35

ø6

S6

4x35

ø6

S6

4x35

ø6

S6

4x35

3

4

LD

x4

ø6 mm

No!

OK

LD

A80 L=75,5-78 cm

A90 L=85,5-88 cm

A100 L=95,5-98 cm

A110 L=105,5-108 cm

A120 L=115,5-118 cm



6

5

6

ALCO
OL

3 
m

m

M6x12

x8

ALCOOL

ALCO
OL



7

7

8

x2

SILICONEGREASE



8

A	 pag. 9

1B	 pag. 25

GF	 pag. 15



9

LS

9

10

1

8

x2

No!

OK

A

LS

A80 L=75,5-78 cm

A90 L=85,5-88 cm

A100 L=95,5-98 cm

A110 L=105,5-108 cm

A120 L=115,5-118 cm



10

11

12

x2

x4

x4

x4

OK

No!

12Nm



11

M5x16
M5x10

M5x8
M5

4x35

S6

x2

x2

13

14
ø6 mm

x4

OK

12Nm



12

x mm x mm

15

16

x2

x2

X mm

No! OK



13

17

18

x2

x2

OK No! No!

x2



14

19

20

3,5x19

x2

x2



15

LF
9

10

1

8

GF

OK

LF

F70 F=66-68,5 cm

F75 F=71-73,5 cm

F80 F=76-78,5 cm

F90 F=86-88,5 cm

F100 F=96-98,5 cm

F110 F=106-108,5

F120 F=116-118,5



16

LG

x4

11

12
LG

G80 L=75,5-78 cm

G90 L=85,5-88 cm

G100 L=95,5-98 cm

G110 L=105,5-108 cm

G120 L=115,5-118 cm



17

ALCOOL

3 
m

m

ø6

S6

4x35

ø6

S6

4x35

ø6

S6

4x35

ø6

S6

4x35

ø6 mm

No!

OK

13

14

ALCO
OL



18

M6x12

x8

15

16
~ 

5/
10

 c
m

ALCOOL



19

No!

OK

x2

17

18



20

max 25 mm

max 25 mm

x2

x2

OK

No!

19

M5x16
M5x10

M5x8
M5

4x35

S6

x2

x2

ø6 mm

20
12Nm



21

x2

OK

21

22
No! OK

No!

OK

12Nm



22

x mm

X mm

23

24



23

3,5x19

x2

x2

OK No! No!

x2

25

26 3,5x19



24

27

28



25

7

8

1B

1

6

A

A’
A = A’

x4



26

ø6

S6

4x35

ø6

S6

4x35

ø6

S6

4x35

ø6

S6

4x35

ø6 mm

No!

OK

9

10

No!

OK



27

3,5x9,5

3,5x9,5

3,5x9,5

11

12

ø3 mm

x3

x2

SILICONE

GREASE



28

13

14

OK



29

15

16

x2

x2

x2

OK

No!

12Nm



30

17

18

M5x16
M5x10

M5x8
M5

4x35

S6

ø6 mm

x2

OK

12Nm



31

x mm

19

20
X mm

No! OK



32

21

22

OK No! No!



33

23

24

3,5x19

3,5x19



Note:



Note:



60090GAL_02 (07 2017)

NOVELLINI S.p.A.

Via Mantova, 1023 - 46030 Romanore di Borgo Virgilio (Mn)

Tel. +39 0376 6421 - Fax +39 0376 642250 - e-mail: novellini@novellini.it

www.novellini.com


